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Jack Lisin, 3/24/2016, ACAD #3. Illustrating two different locations for the pathway. Option one  (blue outline) is shorter in length but takes
the pathway closer to obstacles like the rock pile (Orange circles) and plants.(green arc) Option two (purple outline) brings the pathway closer to the curb, 
possibly minimizing damage done to the grass by pedestrians walking across the grass to get to the pathway (this wouldn't happen
if we implemented option two). Both pathways lead from the sidewalk on the left to the previously built pathway (yellow) on the right of the illustration. 
Option one will be about 56 feet in length total and option two will be 65 feet in total length. One thing to note is that this illustration does not show the 
entire length of the previously built pathway. 


